Indicator	000	FFY 2004 Base	lina			Y 2015-16		UNDER 20 U.S.C. 1416(I	FY 2016-17			APR FFY	2047 40		4.0	R FFY 2018-19		APR FFY 2019-20	APR FFY 2020-21		
	SPP	FFY 2004 Base						7.0.743													
1 Timely Services				Based on Fo	cused Monito	oring Data		Based on Focused Mor	nitoring Data		Based on I	Focused Mo	nitoring Dat	a	Based on Fo	cused Monitoring Data	Based on F	Focused Monitoring Data	Based on Focus	ed Monitoring Data	
Agency	Compliant	Total	%	Compliant	Reason	Total	%	Compliant Reason	Total	%	Compliant	Reason	Total	%	Complian Re	ason Total %	Complian F	Reason Total %	Complian Reaso	on Total %	
Children's Friend and Service	505	737	68.52%	17	4	23	91.30%	17 6	23	100.00%	18	1	20	95.00%	17	3 20 100.00%	16	5 21 100.00%	20	0 21 95.24	
Community Care Alliance	555	781	71.06%	18	3	20	90.00%	18 1	20	95.00%	21	1	22	100.00%	18	1 20 95.00%	16	3 20 95.00%	15	6 21 100.00	
Easter Seals	N/A	N/A	N/A	18	3 2	20	100.00%	19 1	20	100.00%	17	2	20	95.00%	18	2 20 100.00%	14	6 20 100.00%	18	2 20 100.00	
Family Service	704	1038	67.82%	13	3 4	21	80.95%	14 1	28	53.57%	15	5	27	74.07%	16	8 30 80.00%	14	5 25 76.00%	11 '	13 24 100.0	
Groden Center				19	1	20	100.00%	18 1	20	95.00%	16	2	20	90.00%	19	20 95.00%	15	4 20 95.00%	19	1 20 100.0	
Hasbro	663	1167	56.81%	,			N/A		N	V/A				N/A		N/A		N/A		N/A	
Looking Upwards	N/A	N/A	N/A	24	2	27	96.30%	15 7	24	91.67%	18	6	25	96.00%	20	3 24 95.83%	19	5 24 100.00%	19	4 24 95.83	
Maher Center	323	511	63.21%				N/A		N	I/A				N/A		N/A		N/A		N/A	
Meeting Street Center	1559	2321	67.17%	55		60	100.00%	45 14		100.00%	46		63	100.00%	61	7 68 100.00%	44	24 69 98.55%		12 72 100.00	
Seven Hills Rhode Island	N/A	N/A	N/A	25		29	100.00%	15 5	25	80.00%	14			87.50%	17	6 30 76.67%	21	8 32 90.63%	20	9 30 96.6	
Trudeau Memorial	1795	2732	65.70%	28		30	100.00%	26 1	28	96.43%	23	5	28	100.00%	23	4 28 96.43%	14	13 27 100.00%	23	2 25 100.0	
State Total	6104	9287	65.73%	217	24	250	96.40%	187 37	247	90.69%	188	46	249	93.98%	209	34 260 93.46%	173	73 258 95.35%	205	49 257 98.83	
State Target 100%																		12			
2 Natural Environment on IFSP																					
(One day count)																					
Agency	NE	Total	%	NE		Total	%	NE	Total	%	NE		Total	%	NE	Total %	NE	Total %	NE	Total %	
Children's Friend and Service	108	111	97.30%	155		156	99.36%	192	193	99.48%	169			98.26%	164	164 100.00%	183	183 100.00%	183	183 100.00	
Community Care Alliance	141	151	93.38%	174		181	96.13%	151	157	96.18%	184			95.34%	165	169 97.63%	168	169 99.41%	137	137 100.0	
Easter Seals	N/A	N/A	N/A	139		140	99.29%	133	137	97.08%	134			100.00%	150	150 100.00%	141	141 100.00%	148	148 100.0	
Family Service	136	140	97.14%	184		189	97.35%	210	212	99.06%	239			99.17%	237	239 99.16%	280	281 99.64%	233	233 100.00	
Groden Center				50	1	54	92.59%	65	67	97.01%	82	!		98.80%	91	91 100.00%	96	96 100.00%	209	209 100.00	
Hasbro	138	142	97.18%	91		100	91.00%			NA .				NA		NA		NA		NA	
Looking Upwards	N/A	N/A	N/A	228	3	228	100.00%	227	227	100.00%	224			98.68%	232	233 99.57%	229	229 100.00%	104	104 100.00	
Maher Center	70	71	98.59%				N/A			I/A				N/A		N/A		N/A		N/A	
Meeting Street Center	276	316	87.34%	493		498	99.00%	485	487	99.59%	538			100.00%	559	559 100.00%	622	622 100.00%	552	552 100.00	
Seven Hills Rhode Island	N/A	N/A	N/A	228		233	97.85%	238	241	98.76%	204			100.00%	281	283 99.29%	321	323 99.38%	265	267 99.2	
Trudeau Memorial	417	430	96.98%	235		237	99.16%	256	257	99.61%	236			99.16%	234	235 99.57%	254	257 98.83%	207	207 100.00	
State Total	1286	1361	94.49%	1977		2016	98.07%	1957	1978	98.94%	2010		2030	99.01%	2113	2123 99.53%	2294	2301 99.70%	2038	2040 99.90	
State Target				94.40%				94.60%			94.80%				95.00%		97.00%		95.00%		

Update	d 12/9/21		THIS DATA IS REQUIRED TO BE PUBLICLY REPORTED UNDER 20 U.S.C. 1416(b)(2)(C)(ii)										Match Feds to	tals, only one calculation swit	ched from adding to	numerator to subtractin	g denominator	
Indicat	or	SPP	FFY 2004 Base	line	Α	PR FFY 2015-16		APR	FFY 2016-17		AP	R FFY 2017-18	AP	R FFY 2018-19	APR F	FY 2019-20	APR I	FY 2020-21
1)	I Outcomes The percentage of infants and toddlers who entered or exited early intervention below age expectations in each Outcome. The percent who substantially increased their rate of growth by the time they turned 3 years of age or exited the program.																	
	Outcomes 1 - Positive social-emotional sk Agency	1 1	Total	%	1	Total	%	1	Total	%	1	Total %	1	Total %	1	Total %	1	Total %
ALIXAI	Children's Friend and Service	1 2	10tai	50.00%	52	84	61.90%	63	108	58.33%	49	91 53.85%	53	100 53.00%	40	91 43.96%	44	111 39.64%
	Community Care Alliance	39	79	49.37%	75	100	75.00%	57	89	64.04%	37	72 51.39%	41	94 43.62%	34	84 40.48%	23	78 29.49%
	Easter Seals	19		52.78%	53	79	67.09%	33	63	52.38%	28	77 36.36%	41	87 47.13%	40	75 53.33%	28	86 32.56%
	Family Service	61	81	75.31%	46	74	62.16%	37	62	59.68%	48	108 44.44%	51	100 51.00%	50	105 47.62%	35	84 41.67%
	Groden Center	-			18	25	72.00%	16	28	57.14%	18	35 51.43%	26	56 46.43%	22	45 48.89%	23	36 63.89%
	Hasbro	42	85	49.41%			V/A	1	N/			N/A		N/A		N/A		N/A
	Looking Upwards	18	28	64.29%	74	109	67.89%	99	145	68.28%	92	137 67.15%	83	134 61.94%	78	142 54.93%	65	127 51.18%
	Maher Center	15	22	68.18%		١	√A		N/	A		N/A		N/A		N/A		N/A
	Meeting Street Center	68	139	48.92%	154	235	65.53%	89	171	52.05%	107	235 45.53%	124	291 42.61%	179	358 50.00%	139	314 44.27%
	Seven Hills Rhode Island	59	74	79.73%	75	116	64.66%	56	104	53.85%	68	126 53.97%	80	150 53.33%	60	128 46.88%	43	123 34.96%
	Trudeau Memorial	119	183	65.03%	97	136	71.32%	72	140	51.43%	75	147 51.02%	87	155 56.13%	79	139 56.83%	62	116 53.45%
	State Total	442	731	60.47%	644	958	67.22%	522	910	57.36%	522	1028 50.78%	586	1167 50.21%	582	1167 49.87%	462	1075 42.98%
A	State Target Outcomes 2 - Acquisition and use of known	wledge and sk	ills		68.20%			68.80%			70.00%		71.00%		52.00%		51.20%	
APR B1	Agency	2	Total	%	2	Total	%	2	Total	%	2	Total %	2	Total %	2	Total %	2	Total %
	Children's Friend and Service	3	3	100.00%	63	89	70.79%	73	121	60.33%	65	102 63.73%	72	113 63.72%	58	105 55.24%	64	127 50.39%
	Community Care Alliance	61	96	63.54%	85	112	75.89%	61	97	62.89%	48	83 57.83%	50	106 47.17%	38	89 42.70%	26	86 30.23%
	Easter Seals	21	39	53.85%	67	90	74.44%	46	74	62.16%	31	83 37.35%	43	90 47.78%	42	82 51.22%	34	91 37.36%
	Family Service	65	87	74.71%	66	91	72.53%	59	90	65.56%	68	125 54.40%	76	128 59.38%	61	113 53.98%	45	102 44.12%
	Groden Center				17	27	62.96%	24	37	64.86%	24	41 58.54%	37	65 56.92%	23	44 52.27%	33	44 75.00%
	Hasbro	64	100	64.00%			V/A		N/.	-		N/A		N/A		N/A		N/A
	Looking Upwards	25		80.65%	95	122	77.87%	103	149	69.13%	101	149 67.79%	90	143 62.94%	89	148 60.14%	77	141 54.61%
	Maher Center	20		86.96%		· · ·	√A		N/.	-		N/A		N/A		N/A		N/A
	Meeting Street Center	110	179	61.45%	236	296	79.73%	162	251	64.54%	156	292 53.42%	173	342 50.58%	238	407 58.48%	187	347 53.89%
I	Seven Hills Rhode Island	74	93	79.57%	102	152	67.11%	96	137	70.07%	98	159 61.64%	117	192 60.94%	105	181 58.01%	76	175 43.43%
	Trudeau Memorial	128	184	69.57%	94	134	70.15%	101	155	65.16%	98	170 57.65%	93	162 57.41%	78	148 52.70%	55	124 44.35%
	State Total	571	835	68.38%	825	1113	74.12%	725	1111	65.26%	689	1204 57.23%	751	1341 56.00%	732	1317 55.58%	597	1237 48.26%

Update	ed 12/9/21				THIS DATA IS REC	QUIRED TO BE PUBLICLY REPOR	ED UNDER 20 U.S.C. 1	416(b)(2)(C)(ii)				Match Feds to	otals, only one calculation swit	ched from adding	g to numerator to subtracting	g denominator	
Indica	tor	SPP	FFY 2004 Base	eline		APR FFY 2015-16	Α	PR FFY 2016-17			APR FFY 2017-18	Al	PR FFY 2018-19	APF	R FFY 2019-20	APR FF	Y 2020-21
Α	Outcomes 3 - Taking action to meet needs	;															
APR C1	Agency	3	Total	%	3	Total %	3	Total	%	3	Total %	3	Total %	3	Total %	3	Total %
	Children's Friend and Service	5	5	100.00%	60	87 68.97	% 86	121	71.07%	64	99 64.65%	75	111 67.57%	64	104 61.54%	61	119 51.26%
	Community Care Alliance	56		61.54%	84	109 77.06	% 70	99	70.71%	51	80 63.75%	62	106 58.49%	50	90 55.56%	35	84 41.67%
	Easter Seals	39	65	60.00%	72	93 77.42	% 52	79	65.82%	45	89 50.56%	59	95 62.11%	56	90 62.22%	46	95 48.42%
	Family Service	72	98	73.47%	61	84 72.62	% 55	90	61.11%	76	122 62.30%	87	136 63.97%	66	114 57.89%	61	102 59.80%
	Groden Center				20	29 68.97	% 20	32	62.50%	21	42 50.00%	44	66 66.67%	26	48 54.17%	27	42 64.29%
	Hasbro	62	98	63.27%		N/A		N	/A		N/A		N/A		N/A		N/A
	Looking Upwards	23	25	92.00%	103	120 85.83	% 106	149	71.14%	111	152 73.03%	99	146 67.81%	98	152 64.47%	95	144 65.97%
	Maher Center	24	32	75.00%		N/A		N	/A		N/A		N/A		N/A		N/A
	Meeting Street Center	108	180	60.00%	241	283 85.16	% 157	246	63.82%	165	279 59.14%	186	335 55.52%	266	416 63.94%	217	353 61.47%
	Seven Hills Rhode Island	76		83.52%	116	150 77.33	% 100	132	75.76%	101	147 68.71%	113	175 64.57%	94	155 60.65%	106	173 61.27%
	Trudeau Memorial	192	265	72.45%	113	151 74.83	% 105	153	68.63%	115	170 67.65%	120	170 70.59%	101	153 66.01%	77	128 60.16%
	State Total	657	950	69.16%	870	1106 78.66	% 751	1101	68.21%	749	1180 63.47%	845	1340 63.06%	821	1322 62.10%	725	1240 58.47%
	State Target				71.00%		71.50%			72.00%		73.00%		64.00%		63.06%	- 1
В	The percent of infants and toddlers who were functioning within age expectations in each Outcome by the time they turned 3 years of age or exited the program. Outcomes 1 - Positive social-emotional sk	iills															
APR A2	Agency	1	Total	%	1	Total %	1	Total	%	1	Total %	1	Total %	1	Total %	1	Total %
	Children's Friend and Service	2	5	40.00%	51	97 52.58		127	45.67%	46	105 43.81%	46	116 39.66%	40	111 36.04%	48	132 36.36%
	Community Care Alliance	53		51.46%	50	112 44.64		102	47.06%	45	90 50.00%	41	109 37.61%	24	91 26.37%	18	87 20.69%
	Easter Seals	67		74.44%	66	102 64.7		91	61.54%	41	97 42.27%	63	113 55.75%	59	100 59.00%	47	107 43.93%
	Family Service	99	139	71.22%	67	105 63.8		97	55.67%	57	136 41.91%	81	148 54.73%	56	123 45.53%	50	107 46.73%
	Groden Center				17	30 56.67	% 25	42	59.52%	28	50 56.00%	35	72 48.61%	18	49 36.73%	27	45 60.00%
	Hasbro	81		57.86%	50	N/A	0/ 70	N 100		0.4	N/A	0.4	N/A	74	N/A	0.4	N/A
	Looking Upwards	20 21		55.56% 61.76%	59	126 46.83 N/A	% 76	160 N	47.50%	81	156 51.92% N/A	64	151 42.38% N/A	71	156 45.51% N/A	64	149 42.95% N/A
	Maher Center Meeting Street Center	114		52.53%	197	329 59.88	% 187	302	61.92%	179	339 52.80%	161	370 43.51%	192	436 44.04%	138	365 37.81%
	Seven Hills Rhode Island	84		69.42%	112	173 64.74		150	58.00%	99	170 58.24%	107	210 50.95%	118	200 59.00%	109	201 54.23%
	Trudeau Memorial	261	346	75.43%	88	156 56.4		164	50.00%	96	170 53.24%	91	174 52.30%	84	160 52.50%	71	135 52.59%
	State Total	802		65.15%	707	1230 57.48		1235	54.49%	672	1321 50.87%	689	1463 47.10%	662	1426 46.42%	572	1328 43.07%
1	State Target (National 62%)	302	.201	00070	57.40%	1200 01.40	57.60%	.200	3 1. 13 70	57.80%	102.1 00.07 70	58.00%	7.00 77.1070	48.00%	1.25 1.5.4270	47.10%	1020 10:01 70

Update	d 12/9/21				THIS DATA IS RE	EQUIRED TO BE PUBLICLY	REPORTED	UNDER 20 U.S.C. 141	6(b)(2)(C)(ii)				Match Feds to	tals, only one calculation swit	ched from adding	g to numerator to subtracting	5		
Indicat	or	SPP F	FFY 2004 Base	eline		APR FFY 2015-16		APF	R FFY 2016-17			APR FFY 2017-18	AF	PR FFY 2018-19	APF	R FFY 2019-20	APR FF	Y 2020-21	
В	Outcomes 2 - Acquisition and use of know	vledge and ski	lls																
APR B2	Agency	2	Total	%	2	Total	%	2	Total	%	2	Total %	2	Total %	2	Total %	2	Total	%
	Children's Friend and Service	4	4	100.00%	36	94	38.30%	50	128	39.06%	34	105 32.38%	41	116 35.34%	30	111 27.03%	23		17.42%
	Community Care Alliance	43	104	41.35%	47	112	41.96%	35	102	34.31%	38	90 42.22%	37	109 33.94%	24	91 26.37%	12		13.79%
	Easter Seals	69	91	75.82%	61	102	59.80%	53	91	58.24%	34	97 35.05%	61	113 53.98%	51	100 51.00%	47		43.93%
	Family Service	98	143	68.53%	66	107	61.68%	43	97	44.33%	43	136 31.62%	68	148 45.95%	44	123 35.77%	37		34.58%
	Groden Center				13	29	44.83%	22	42	52.38%	26	50 52.00%	26	72 36.11%	17	49 34.69%	21		46.67%
	Hasbro	82	142	57.75%		N/			N			N/A		N/A		N/A			N/A
	Looking Upwards	20	36		62	126	49.21%	74	161	45.96%	75		58	151 38.41%	68	156 43.59%	59		39.60%
	Maher Center	21				N/			N			N/A		N/A		N/A			N/A
	Meeting Street Center	103	218		175	329	53.19%	149	304	49.01%	138	338 40.83%	127	370 34.32%	144	436 33.03%	112		30.68%
	Seven Hills Rhode Island	79	125	63.20%	94	173	54.34%	69	153	45.10%	70	170 41.18%	84	210 40.00%	76	200 38.00%	65		32.34%
	Trudeau Memorial	262	350	74.86%	84	147	57.14%	80	166	48.19%	77	178 43.26%	76	174 43.68%	65	160 40.63%	49		36.30%
	State Total	781	1247	62.63%	638	1219	52.34%	575	1244	46.22%	535	1320 40.53%	578	1463 39.51%	519	1426 36.40%	425	1328	32.00%
	State Target				54.80%			54.80%			55.00%		55.00%		41.00%		39.51%		
В	Outcomes 3 - Taking action to meet need																		
APR C2	Agency	3	Total	%	3	Total	%	3	Total	%	3	Total %	3	Total %	3	Total %	3	Total	%
	Children's Friend and Service	5	5	100.00%	48	95	50.53%	58	127	45.67%	45		49	116 42.24%	42	111 37.84%	49		37.12%
	Community Care Alliance	46	102	45.10%	52	112	46.43%	50	102	49.02%	43	90 47.78%	42	109 38.53%	27	91 29.67%	17		19.54%
	Easter Seals	52	89	58.43%	67	102	65.69%	53	91	58.24%	43		68	113 60.18%	58	100 58.00%	53		49.53%
	Family Service	90	142	63.38%	68	106	64.15%	43	97	44.33%	58	136 42.65%	75	148 50.68%	52	123 42.28%	45		42.06%
	Groden Center				15	30	50.00%	24	41	58.54%	26	50 52.00%	31	72 43.06%	17	49 34.69%	23		51.11%
	Hasbro	79	135	58.52%		N/			N/			N/A		N/A		N/A			N/A
	Looking Upwards	25	36	69.44%	70	126	55.56%	78	161	48.45%	84	156 53.85%	72	151 47.68%	70	156 44.87%	61		40.94%
	Maher Center	18	34	52.94%		N/			N/			N/A		N/A		N/A			N/A
	Meeting Street Center	104	216	48.15%	217	329	65.96%	170	301	56.48%	184	335 54.93%	165	370 44.59%	178	436 40.83%	130		35.62%
	Seven Hills Rhode Island	75	116	64.66%	110	173	63.58%	91	152	59.87%	107	170 62.94%	119	210 56.67%	120	200 60.00%	104		51.74%
	Trudeau Memorial	234	344	68.02%	84	156	53.85%	75	159	47.17%	89	177 50.28%	85	174 48.85%	85	160 53.13%	65		48.15%
	State Total	728	1219	59.72%	731	1229	59.48%	642	1231	52.15%	679	1316 51.60%	706	1463 48.26%	649	1426 45.51%	547	1328	41.19%
	State Target				54.40%			54.60%			54.80%		55.00%		49.00%		48.26%	<u> </u>	

Jpdated 12/9/21					EQUIRED TO BE PUBLIC	D UNDER 20 U.S.C. 1416(b)(2)(C)(ii)			100 557 445 40			Match Feds total	ls, only one calculation sw	itched from add	ding to numerator to subtracting			
Indicator	SPP	FFY 2004 Base	line		APR FFY 2015-16		AF	R FFY 2016-17		Α	PR FFY 2017-18		APR	FFY 2018-19	Α	PR FFY 2019-20	P	NPR FFY 2020-21
4 Family Survey A Know Rights																		
Agency	Know	Total	%	Know	Total	%	Know	Total	%	Know	Total	%	Know	Total %	Know	Total %	Know	Total %
Children's Friend and Service	15	18	83.33%	34.4	41.0	83.9%	48.6	56.0	86.8%	55.0	59.6	92.3%	38.0	40.4 94.19	6 58.4	68.6 85.1%	52.0	58.8 88.49
Community Care Alliance	61	68	89.71%	33.2	41.4	80.2%	60.8	62.8	96.8%	54.0	58.6	92.2%	67.2	71.4 94.19	6 86.6	91.4 94.7%	62.2	71.0 87.6
Easter Seals	6	9	66.67%	71.8	78.6	91.3%	55.0	60.8	90.5%	67.0	74.8	89.6%	74.2	78.4 94.69	69.6	76.2 91.3%	57.2	63.4 90.2
Family Service	41	48	85.42%	65.2	69.2	94.2%	88.4	94.2	93.8%	72.6	79.6	91.2%	77.4	92.0 84.19	62.0	76.8 80.7%	76.2	89.0 85.6
Groden Center				26.2	28.0	93.6%	34.6	36.6	94.5%	59.2	62.4	94.9%	39.6	45.8 86.5%	6 40.8	44.6 91.5%	37.2	42.0 88.6
Hasbro	36	39	92.31%			N/A		N	/A			N/A		N/A		N/A		N/A
Looking Upwards	N/A	N/A	N/A	48.4	56.0	86.4%	66.6	76.6	86.9%	76.8	88.0	87.3%	78.0	81.6 95.6%	6 101.4	114.6 88.5%	79.0	86.4 91.4
Maher Center	26	30	86.67%			N/A		N	/A			N/A		N/A		N/A		N/A
Meeting Street Center	66	85	77.65%	110.4	126.0	87.6%	214.2	230.6	92.9%	234.0	256.2	91.3%	184.4	198.4 92.9%	6 241.2	262.6 91.9%	217.6	240.4 90.5
Seven Hills Rhode Island	N/A	N/A	N/A	41.4	44.2	93.7%	63.8	69.8	91.4%	55.4	60.0	92.3%	117.2	127.4 92.0%	6 110.6	128.4 86.1%	90.6	100.4 90.2
Trudeau Memorial	103	130	79.23%	75.2	81.8	91.9%	82.4	91.8	89.8%	167.0	180.8	92.4%	112.4	124.4 90.49	6 82.8	99.0 83.6%	65.2	74.6 87.4
State Total	354	427	82.90%	506.2	566.2	89.40%	714.4	779.2	91.68%	841.0	920	91.41%	788.4	859.8 91.70%	6 853.4	962.2 88.69%	737.2	826 89.25
State Target				90.40%			90.60%			90.80%		•	91.00%		92.00%	·	88.67%	
B Effectively communicate																		
Agency	Commun	Total	%	Commun	Total	%	Commun	Total	%	Commun	Total	%	Commun	Total %	Commun	Total %	Commun	Total %
Children's Friend and Service	14	18	77.78%	37.5	41.0	91.5%	50.5	55.8	90.4%	58.5	59.5		40.3	40.8 98.89	6 60.2	69.0 87.2%	50.0	54.3 92.0
Community Care Alliance	62	68	91.18%	36.5	41.7	87.6%	60.5	62.3	97.1%	56.3	58.7		70.2	71.8 97.79	6 87.3	91.5 95.4%	64.2	69.7 92.1
Easter Seals	6	9	66.67%	75.3	79.0	95.4%	57.8	60.7	95.3%	70.0	74.3		75.7	78.3 96.69	6 69.7	75.8 91.9%	61.3	64.3 95.3
Family Service	43	48	89.58%	66.7	69.0	96.6%	92.0	95.0	96.8%	74.8		93.5%	82.5	91.8 89.89	6 69.8	76.5 91.3%	74.7	82.2 90.9
Groden Center				25.7	28.0	91.7%	35.0	36.8	95.0%	61.2	62.5		42.8	45.8 93.5%	6 42.8	44.5 96.3%	41.0	43.0 95.3
Hasbro	37	39	94.87%			N/A		N				N/A		N/A		N/A		N/A
Looking Upwards	N/A	N/A	N/A	50.0	56.0	89.3%	71.0	77.0	92.2%	82.5	87.7	94.1%	80.7	81.8 98.69	6 105.5	113.5 93.0%	84.7	88.3 95.8
Maher Center	28		93.33%			N/A			/A			N/A		N/A		N/A		N/A
Meeting Street Center	74		87.06%	115.0	126.0	91.3%	219.7	230.7	95.2%	244.0	257.8	94.6%	193.8	199.5 97.29	6 249.2	264.3 94.3%	218.0	228.8 95.3
Seven Hills Rhode Island	N/A	N/A	N/A	42.3	44.8	94.4%	64.5	69.7	92.6%	56.5	60.0		123.0	127.8 96.29	6 115.7	128.3 90.1%	94.7	101.3 93.4
Trudeau Memorial	114		87.69%	76.3	80.8	94.4%	87.2	91.5	95.3%	169.3	180.8		118.3	124.5 95.09	6 89.8	98.8 90.9%	66.8	73.3 91.1
State Total	378		88.52%	525.3	566.3	92.76%	738.2	779.5	94.70%	873.2		94.78%	827.3	862.3 95.949	6 890.0	962.3 92.48%	755.3	805.3 93.79
State Target				94.20%		02.00	94.60%		• •	94.80%			95.00%	002.00	96.00%	55215	92.52%	200.0
C Help your child						٥,	L		0/			0/			 	-		
Agency	Help	Total	%	Help	Total	%	Help	Total	%	Help	Total	%	Help	Total %	Help	Total %	Help	Total %
Children's Friend and Service	14		77.78%	38.0	41.0	92.7%	50.5	55.8	90.4%	58.2	59.8		40.7	41.0 99.29	6 57.5	67.8 84.8%	53.2	60.7 87.6
Community Care Alliance	62	68	91.18%	37.5	42.0	89.3%	59.0	61.7	95.7%	53.5	58.8		69.8	71.7 97.49	6 86.3	91.7 94.2%	63.5	72.0 88.2
Easter Seals	/	48	77.78%	71.8	78.3	91.7% 95.6%	54.5 89.0	60.8	89.6%	65.5	73.3		73.0	78.5 93.09	65.5	74.5 87.9%	60.0	65.7 91.4
Family Service	42	48	87.50%	65.7	68.7			94.2	94.5%	73.3		92.1%	81.8	92.0 88.99	66.3	75.0 88.4%	77.3	91.5 84.5
Groden Center			00.040/	23.3	28.0	83.3%	33.2	35.8	92.6%	60.0	63.0		40.8	46.0 88.89	6 41.0	44.2 92.8%	39.7	44.0 90.2
Hasbro	36		92.31%	50.0	55.0	N/A	60.0	76.2		70.7	27.0	N/A	00.3	N/A	/ 101.3	N/A	04.5	N/A
Looking Upwards	N/A	N/A	N/A	50.8	55.8	91.0%	69.2	76.3	90.6%	79.7	87.0	91.6%	80.2	81.7 98.29	6 101.3	113.7 89.1%	81.5	89.8 90.7
Maher Center	29		96.67%	440.0	404.0	N/A 89.9%	214.8		/A	226.6	255.2	N/A	100.5	N/A	/ 245.2	N/A	220.2	N/A
Meeting Street Center	75		88.24%	112.2	124.8			229.2	93.7%	236.0	256.2		190.5	199.2 95.6%	6 245.3	263.0 93.3%	228.3	246.8 92.5
Seven Hills Rhode Island	N/A	N/A	N/A	40.7	44.5	91.4%	64.7	69.2	93.5%	55.7		93.0%	116.3	127.8 91.09	6 112.8	128.5 87.8%	91.2	103.5 88.1
Trudeau Memorial	116		89.23%	70.5	77.7	90.8%	84.5	91.3	92.5%	166.3	180.3	-	114.5	124.5 92.09	6 83.2	96.7 86.0%	62.2	76.3 81.4
State Total	381	427	89.23%	510.5	560.8	91.03%	719.3	774.3	92.90%	848.2	918.0	92.39%	807.7	862.3 93.66%	859.3	955.0 89.98%	756.8	850.3 89.00
State Target				94.50%			94.50%			94.50%			94.50%		94.50%		89.95%	

State Total
State Target 1009

Updated 12/9/21				THIS DATA IS REQUIF	RED TO BE PUBLIC	CLY REPORTE	D UNDER 20 U.S.	C. 1416(b)(2)(C)(ii)					Match Fed	ls totals, only	y one calculation swi	tched from	adding to num	erator to subtracting	<u> </u>		
Indicator	SPP	FFY 2004 Base	eline	APF	R FFY 2015-16			APR F	FY 2016-17			APR FF	Y 2017-18		APR FFY	2018-19		APR FFY 2	019-20	Α	PR FFY 2	020-21
5 Birth to 1 with IFSP		1.75%			2.75%	2.75%		3.00%				2.60%		4th in nation	3.14%		5th in Nation	2.93%			2.22%	
State Target				2.50%			2.50%				2.50%			2.50%	Tar III II II II II		2.50%			2.50%		
6 Birth to 3 with IFSP	3.56%				6.11%				6.07%				6.14%			6.54%			7.14%			6.42%
State Target				6.00%			6.00%				6.00%			6.00%	4th in nation	n	6.00%	4th in nation		6.00%		
7 45 Day Timeline				Based on Focused N	Monitoring Data		Based on Focu	sed Mon	itoring Data		Based on F	ocused N	Monitoring Data	Based or	Focused I	Monitoring Data	Based o	n Focused M	onitoring Data	Based on Fo	ocused M	onitoring Data
Agency	Compliant	Total	%	Compliant Reas	on Total	%	Compliant I	Reason			Compliant	Reason		Complian	Reason		Complia	Reason		Complian R	eason	Total %
Children's Friend and Service	32	138	23.19%	17	4 23	01.0070		4		100.00%	17	3	20 100.00%	13	5	20 90.00%	12	9	21 100.00%	15	5	21 95.249
Community Care Alliance	15	152	9.87%	14	4 20			8		90.00%	18	4	22 100.00%	15		20 100.00%	15	5 5	20 100.00%	19	2	21 100.009
Easter Seals	N/A	N/A	N/A	19	1 20					100.00%	19	1	20 100.00%	20		20 100.00%	18	3 2	20 100.00%	19	1	20 100.009
Family Service	77	182	42.31%	15	6 21			2		75.00%	24		27 88.89%	22	6	30 93.33%	11	10	25 84.00%	16	8	24 100.009
Groden Center				17	3 20		17	3	20 1	100.00%	18	2	20 100.00%	20		20 100.00%	14	6	20 100.00%	20		20 100.009
Hasbro	40	.00	28.99%			N/A			N/A				N/A			N/A			N/A			N/A
Looking Upwards	N/A	N/A	N/A	24	3 27	100.00%	23	1	24 1	100.00%	21	4	25 100.00%	21	2	24 95.83%	13	11	24 100.00%	16	7	24 95.83%
Maher Center	77	102	75.49%			N/A			N/A				N/A			N/A			N/A			N/A
Meeting Street Center	261	423	61.70%	56	4 60	100.0070		2		100.00%	62	1	63 100.00%	64		68 100.00%	56	13	69 100.00%	68	4	72 100.00%
Seven Hills Rhode Island	N/A	N/A	N/A	23	5 29	96.55%		9		96.00%	22	2	25 96.00%	23	6	30 96.67%	24	5	32 90.63%	25	3	30 93.33%
Trudeau Memorial	97		21.56%	28	2 30	100.0070	28			100.00%	26	2	28 100.00%	24		28 92.86%	19	8	27 100.00%	23		25 92.00%
State Total	599	1585	37.79%	213	32 250	98.00%	208	29	247	95.95%	227	19	250 98.40%	222	30	260 96.92%	182	69	258 97.29%	221	30	257 97.67%
Ct-t- Tt 1000/																						

Update	ed 12/9/21				THIS DATA IS	REQUIRED TO BE PUBLIC	LY REPORTE	D UNDER 20 U.S.C. 1416(b)	(2)(C)(ii)						Match Feds totals, only	y one calculation swi	tched from adding to n	umerator to subtracti	ng denominator	
Indica	tor	SPP	FFY 2004 Bas	eline		APR FFY 2015-16		APR FF	Y 2016-17			APR FFY	2017-18		APR FFY	2018-19	APR FF	′ 2019-20	APR FF	/ 2020-21
8 Trai	nsition								•				,							
Α	Steps	Based on For	cused Monitorin	na Data	Based on For	cused Monitoring Data		Based on Focused Moni	toring Data		Based on Fo	ncused Ma	onitoring Date	9	Based on Focused	Monitorina Data	Based on Focused	Monitoring Data	Based on Focused	Monitoring Data
^	Agency	Compliant		%	Compliant	Total	%	Compliant Reason	Total	%	Compliant I			<u> </u>	Complian Reason		Complian Reason		Complian Reason	
	Children's Friend and Service	3	3	100.00%	10		100.00%	10	10	100.00%	10	rtcuso		100.00%	10	10 100.00%	10	10 100.00%	10	10 100.00%
	Community Care Alliance	4	5	80.00%	8		100.00%	10	10	100.00%	10			100.00%	10	10 100.00%	8 1	10 90.00%	10	10 100.00%
	Easter Seals	N/A	N/A	N/A	10	10	100.00%	10	10	100.00%	10			100.00%	10	10 100.00%	10	10 100.00%	10	10 100.00%
	Family Service	3	3	100.00%	10		100.00%	10	10	100.00%	10			100.00%	10	10 100.00%	9 1	10 100.00%	10	10 100.00%
	Groden Center	Ť	Ť	100.0070	10		100.00%	9	10	90.00%	10			100.00%	9	10 90.00%	9 1	10 100.00%	9	9 100.00%
	Hasbro	4	4	100.00%	· · · · ·		N/A	 	N.					N/A	<u> </u>	N/A	<u> </u>	N/A	1 1	N/A
	Looking Upwards	N/A	N/A	N/A	10	10		10	10	100.00%	10			100.00%	10	10 100.00%	10	10 100.00%	9 1	10 100.00%
	Maher Center	3	3	100.00%			N/A		N					N/A		N/A		N/A		N/A
	Meeting Street Center	5	10	50.00%	20	20	100.00%	20	20	100.00%	21			100.00%	23	23 100.00%	22	22 100.00%	23	23 100.00%
	Seven Hills Rhode Island	N/A	N/A	N/A	9	9	100.00%	9 1	10	100.00%	10			100.00%	10	10 100.00%	11	11 100.00%	11	11 100.00%
	Trudeau Memorial	12	16	75.00%	10	10	100.00%	10	10	100.00%	10		10	100.00%	10	10 100.00%	7 3	10 100.00%	10	10 100.00%
	State Total	34	44	77.27%	97	97	100.00%	98 1	100	99.00%	101	0	101	100.00%	102 0	103 99.03%	96 6	103 99.03%	102 1	103 100.00%
	State Target 100%							cannot co	ntact											
В	Notification	Based on Foo	cused Monitorin	ng Data	Based on Foo	cused Monitoring Data		Based on Focused Moni	toring Data		Based on Fo	cused Mo	onitoring Data	а	Based on Focused	Monitoring Data	Based on Focused	Monitoring Data	Based on Focused	Monitoring Data
	Agency	Compliant	Total	%	Compliant	Total	%	Compliant Reason	Total	%	Compliant I	Reason	Total	%	Complian Reason		Complian Reason		Complian Reason	
	Children's Friend and Service	. 3	3	100.00%	10	10	100.00%	. 9	10	90.00%	10		10	100.00%	10	10 100.00%	10	10 100.00%	10	10 100.00%
	Community Care Alliance	6	6	100.00%	8	8	100.00%	9 1	10	100.00%	10		10	100.00%	10	10 100.00%	10	10 100.00%	10	10 100.00%
	Easter Seals	N/A	N/A	N/A	10	10	100.00%	10	10	100.00%	10		10	100.00%	10	10 100.00%	10	10 100.00%	10	10 100.00%
	Family Service	4	4	100.00%	10	10	100.00%	9 1	10	100.00%	10		10	100.00%	10	10 100.00%	10	10 100.00%	9	10 90.00%
	Groden Center				9	9	100.00%	10	10	100.00%	10		10	100.00%	10	10 100.00%	10	10 100.00%	10	10 100.00%
	Hasbro	4	4	100.00%			N/A		N.	/A				N/A		N/A		N/A		N/A
	Looking Upwards	N/A	N/A	N/A	10	10	100.00%	6 4	10	100.00%	10		10	100.00%	10	10 100.00%	10	10 100.00%	10	10 100.00%
	Maher Center	3	3	100.00%			N/A		N.	/A				N/A		N/A		N/A		N/A
	Meeting Street Center	9	11	81.82%	20	20	100.00%	19 1	20	100.00%	21		21	100.00%	23	23 100.00%	22	22 100.00%	24	24 100.00%
	Seven Hills Rhode Island	N/A	N/A	N/A	9	9	100.00%	10	10	100.00%	10		10	100.00%	10	10 100.00%	11	11 100.00%	11	11 100.00%
	Trudeau Memorial	14		93.33%	10	10	100.00%	10	10	100.00%	10			100.00%	10	10 100.00%	10	10 100.00%	10	10 100.00%
	State Total	43	46	93.48%	96	96	100.00%	92 7	100	98.92%	101	0	101	100.00%	103 0	103 100.00%	103 0	103 100.00%	104 0	105 99.05%
	State Target 100%							6 opt 1 tra	nsferred Fe	eds calcu			-							
С	Conference	Based on Foo	cused Monitorin	ng Data	Based on Foo	cused Monitoring Data		Based on Focused Moni	toring Data		Based on Fo	ocused Mo	onitoring Data	а	Based on Focused		Based on Focused		Based on Focused	Monitoring Data
	Agency	Compliant	Total	%	Compliant	Total	%	Compliant Reason	Total	%	Compliant I	Reason	Total	%	Complian Reason	Total %	Complian Reason	Total %	Complian Reason	Total %
	Children's Friend and Service	3	3	100.00%	10	10	100.00%	10	10	100.00%	10			100.00%	10	10 100.00%	10	10 100.00%	9	10 90.00%
	Community Care Alliance	5	5	100.00%	9		100.00%	10	10	100.00%	10			100.00%	10	10 100.00%	9 1	10 100.00%	10	10 100.00%
	Easter Seals	N/A	N/A	N/A	10		100.00%	10	10	100.00%	10			100.00%	10	10 100.00%	10	10 100.00%	10	10 100.00%
	Family Service	3	3	100.00%	10	10	100.00%	9	10	90.00%	10			100.00%	10	10 100.00%	9 1	10 100.00%	10	10 100.00%
	Groden Center				9	9	100.00%	10	10	100.00%	10			100.00%	9	10 90.00%	8 2	10 100.00%	9	9 100.00%
	Hasbro	4	4	100.00%			N/A		N					N/A		N/A		N/A		N/A
	Looking Upwards	N/A	N/A	N/A	10		100.0070	10	10	100.00%	10			100.00%	10	10 100.00%	10	10 100.00%	8 1	10 90.00%
	Maher Center	3	3	100.00%			N/A		N					N/A		N/A		N/A		N/A
	Meeting Street Center	7	10	70.00%	20			18 2	20	100.00%	21			100.00%	23	23 100.00%	21 1	22 100.00%	23	23 100.00%
	Seven Hills Rhode Island	N/A	N/A	N/A	9		100.00%	9 1	10	100.00%	10			100.00%	10	10 100.00%	11	11 100.00%	11	11 100.00%
	Trudeau Memorial	14		93.33%	10		100.00%	10	10	100.00%	10			100.00%	10	10 100.00%	7 3	10 100.00%	10	10 100.00%
	State Total	39	43	90.70%	97	97	100.00%	96 3	100	99.00%	101	0	101	100.00%	102 0	103 99.03%	95 8	103 100.00%	100 1	103 98.06%
ı	State Target 100%							2 family re	ason 1 no conta	act										